H £ 0l & AF & S

Al A

NBUE = 4 5| 220IIZSLEH A
SN FRI=X D
B3 HASS MYOY X8
S92l A2 20(230IBSLEH) CCHRED
SN - GA(SH) - NRAY - BES 0] a0t /IR HlRE2
e 437,308 420,8% 16,412
2 70,291 59,001 1,200
= 24,497 21,697 2,800
=z 2,520 340,108 2,412
HASE MBOIE X2 409,924 308,983 10,941
2 70,291 59,001 1,200
= 24,497 21,697 2,800
2 315,13 318, 1% £3,059
R CICEELPIEEEER) 409,924 308,983 10,941
2 70,291 59,001 11,200
= 24,497 21,697 2,800
2 315,13 318, 1% £3,059
IZSURX ST EE(HASE A22E) 6,925 6.925 0
= 6,925 6,925 0
201 Yer2 | 3,625 2,380 1,245
< 3,625 2,380 1,245
01 Al 22l 3,445 2,200 1,245
O2Z0 AREE 7 3,445 2,200 1,245
= 3,445 2,200 1,245
2 ZZ2H) 180 180 0
OO0 PEE X3 60,0002 +32 180 180 0
= 180 180 0
202 Oft 3,300 4,440 A1,140
= 3,300 4,440 A1,140
ETET 3,300 4,440 A1,140
02230 ABEl S ot 3,300 4,440 A1,140
< 3,300 4,440 A1,140
301 YHEFEZ 0 105 A105
= 0 105 A105
14 JIEF2 A2 0 105 A105
0BT 2HIYT A1 243 0 105 A105
= 0 105 A105
EEER =R ECEESEEE L) 71,127 57,127 14,000
2 56,902 45,702 11,200
= 14,225 11,425 2,800
307 2I2¢0IH 71,127 57,127 14,000
2 56,902 46,702 11,200
< 14,225 11,425 2,800
EECEET 71,127 57,127 14,000
OFMIBHT K& 28,000 24,627 3,373
2 22,400 19,702 2,608
= 5,600 4,925 675
ozoRY 2a3 4,600 3,000 1,600
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fA: ==X

MM HASS MEOH X2
o 230 (AZ20II2S5ESA)

SN - B G(EH) - NRAY - BES 0 & o[-

= 3,680 2,400

= 920 600

o=e18Y =3 2,300 3,000

= 1,840 2,400

= 460 600

OoLdl K& 36,227 26,500

= 28,982 21,200

& 7,245 5,300

230 (AIZ2HIRE2) 315,136 318,19%

308 REXISHMSOIH 315,136 318,195

07 XXIEtH2t R E = 315,136 318,195

Oflg=0 AZHIREZ 315,136 318,195

Heas (==X 27,384 21,913

IZESSEIHENNE(ASS0HIISSLSAH) 27,384 21,913

IZESEYIHEEXZE 27,384 21,913

801 Gl 7,471 2,000

01 LBroilgltl 7,471 2,000

ORY0IS3 &2 S 7,471 2,000
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